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x=logL

02 0,1s B 63cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.17
A2=0.95=t
A3=0.1
∆=0.0

UG411−1A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

02 0,1s R 63cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.15
A2=1.08=t
A3=0.07
∆=0.002

UG411−2A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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AD 0,1s G 63cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.19
A2=0.98=t
A3=0.06
∆=0.001

UG411−3A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

04 0,1s A 6,3cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.11
A2=1.28=t
A3=0.06
∆=0.004

UG411−4A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 0,1s Y 6,3cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.13
A2=1.38=t
A3=0.07
∆=0.004

UG411−5A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 0,1s B 6,3cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.07
A2=1.24=t
A3=0.12
∆=0.0

UG411−6A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

02 0,1s R 6,3cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.04
A2=1.08=t
A3=0.08
∆=0.011

UG411−7A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=6,3cd/m2
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x=logL

AD 0,1s G 6,3cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.11
A2=1.32=t
A3=0.08
∆=0.002

UG411−8A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme Lg=63cd/m2
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x=logL

04 0,1s A&G 63cd/m2; pot3
T*  = [A1 + A ·L]t − 1
A1=0.42
A2=1.54=t
A3=0.02
∆=0.003

A1=0.19
A2=0.98=t
A3=0.06
∆=0.001


